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Find all first-order partial derivatives. 
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Find the indicated partial derivatives. 
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(a) Sketch the graph of z=f(x,y) and (b) on this graph, highlight the appropriate two-
dimensional trace and interpret the partial derivative as a slope. 
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and interpret the significance of the points 
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Use the contour plot to estimate f
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at the origin. 
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61. Suppose that three resistors are in parallel in an electrical circuit. If the resistance are 
R1, R2 and R3 ohms, respectively, then the net resistance in the circuit equals  

R = 1 2 3
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